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BIEMBDESGL| 1 Sv/h
3H FF K& BITEE FF KIE BIEE
3A31H(X) OfF £Y 0.05 158 =Y 0.05
3H30H (k) oRF Bh 0.06 1568% B 0.05
3H29H (X) ofk Bh 0.06 1568% B 0.05
3H28H(AH) oFF Bh 0.05 158 i 0.05
3H27H(H) OfF Eh 0.06 158 Eh 0.05
3H26H (1) R B 0.05 158 B 0.06
3H25H (£) OR B 0.05 158 £ 0.05
3H24H(X) ofF £Y 0.05 158 £Y 0.05
3H2380K) ofF £Y 0.05 158 B4 0.05
3H228 () OFF £Y 0.05 158 £Y 0.05
3H21HA) OfF INFE 0.06 158 £ 0.06
3A20H(H) of BEn 0.05 1508 £ 0.05
319 (%) OFF Eh 0.05 1568% Eh 0.05
3H18H (%) 158 Eh 0.05 168 Eh 0.05
3H18H (%) 138 Eh 0.06 148 Eh 0.05
3H18H (%) 118 Eh 0.06 128 Eh 0.05
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